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1. Multiple Choice Questions:
1) The most common site of skeletal tuberculosis is:
a) Hip + Spine
b) Knee + Hip joint
c) Knee joint
d) Cervical spine

2) In bony ankylosis, there is :
a) Painless, No movement
b) Painful complete movement
c) Painless complete movement
d) Painful incomplete movement

3) Wandering acetabulum is seen in :
a) Fracture of acetabulum
b) Dislocation of femur
c) Congenital dislocation of hip
d) Tuberculosis of hip

4) In scurvy there is deficit in:
a) Collagen
b) Fibroblasts
c) Elastic fibres
d) All of the above

5) The complications of Paget’s disease is:
a) Osteogenic sarcoma 
b) Deafness
c) Heart failure
d) All of the above

2. Short Answer Type Questions:
a) Phases of Paget’ disease
b) Aetiology of Paget’ disease 
c) X- ray changes seen in Paget’s disease



3. Long Answer Type Questions:
Q1.Write in detail about the etiology, pathology, clinical features and management of skeletal tuberculosis.
